PRODUCTION AND REVENUE ANALYSIS

COST OF PRODUCTION:

e wisinme Af factors of of ‘tion 1.¢.

A firm or producing unit needs different combinations ol factors 011 pt+l:ir;2:'vicuq

land. labour, capital and organization to produce various quantitics ol gn{;u 0 td-r . lf;l.:
The’sewiccs of these factors arc paid in the form ol rent, wages an INICrest O

| al, tue er, transportation,
entrepreneur. Moreover, amount is also paid for raw mu{cnql. fuel, pow L]""dn:p}]'ll;tr:?,és
publicity, taxes etc. Thus cost of production 1s the sum total ol all above Imcntmm,:i 1"::;-:111{ x
which a firm has to bear for producing a specific quantity ol a commodity. Normal p1 |
also included in it. Cost function can be expressed as under:-

C = X, .PX;+X;.PXo+ X;.PA3# e LA
Here C = Costof production
X;.X>.X5...Xn = Units of various factors of production
PX, .PX,.PX; . PXn = Rewards (prices) paid to units of factors
It must be remembered that the reward of self owned resources / factors are also

included in the cost of production which 1s known as (Implicit Cost)
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[ CLASSIFICATION OF COST OF PRODUCTION |

COST OF PRODUCTION OF ANY FIRM MAY BE CLASSIFIED AS L Nﬂl*'ll:—_
I PFAT. COST (T C):-

Total cost includes all types of expenses faced by the firm while producing a specific
quantity of a commodity. It includes rent, wages, interest, price of machines, raw matenal,
transportation and publicity expenditure, taxes and duty paid by the firm, normal profit etc.

Total cost can be divided into two parts:-

(a) fixed Cost (Fc) (b) Vanable cost (V C)

ThusTC=FC+VC

(A) FIXED COST (F C):-

lt.is also known as “Indirect Cost” or “Supplementary Cost". It is permanent in nature

| &llﬂ femains constant in the short-period. Fixed cost does not vary with the changes in the

}lmts of out put. Finrm has to bear this cost even if production is zero or factory is closed. It

includes price of land, rent of building, price of machines inst :

employee’s, interest on debt etc.

 (B)  VARIABLE COST (v C)--

It is also regarded as “Direct Cost” or “Prime Cost”. It changes with the change in the

alled, wages ol permanent




A IST (/ _‘;- \ 'Lﬁ . .
ge per unit output. It is calculated while dividing total cost by total

i By 3 Total Cost !
R e Average total cost = Total Units of Outpul |
. | TC
ATCorAC = _Q_
If a firm produces 100 units of commodity X per day and its' total cost = Rs. 8000.
8000
Then AC = 100 = 80 Rs.

Average Cost (AC) can be divided into two parts:-
(a) Average Fixed Cost (AFC):-

When fixed cost is divided by total units of output, we amve at average lixed cost

Fixex Cost FC
P Unats of Output Q ‘
Suppose FC = 2000 while units of output (Q) of commodity X per day = 100 1
FC 2000 !
Then AFC = Q 100 - 20 Rs 5
It must be noted that AFC goes on decreasing with the increase in the units of output _‘l

of the commodity being produced (the reason is unchanged fixed costs)
Average Variable Cost (AVC):-

In order to achieve AVC, vanable cost is divided by the units of output.

: V
Thus, AVC - Yo
Q
For example, VC = 6000 and units of output (Q) = 100
VC 6000
Then AVC = Q 100 - 60 Rs

As vanable cost changes with the variation in the units of out
put. Thus AVC also
varies accordingly, declining initially, reaching at its minimum and then Increasing again
B Wmmdﬂp@d(m ) AVC curve,

- Margin; cost Millwry crucial in Microeconomic theory, M al cost (MC)
s the .h. or additional cost, of producing one more unit of output. I3;11:_': ::El ll:e - |
or cacl _ unit of output bY noting the change in total cost which that
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le constant factors being unchanged, fixed cost remains the same. In view of an
_"‘t demand of output. Production and supply can be increased up to a certain

| ___.__u' nit depends upon the excess capacity of the plant, changes of an extra shift

ility of the stock of product

M relationship among FC, VC, TC, AFC, AVC, ATC and MC has shown

l
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INTS OF THE PREVIOUS SCHEDULE -

n No. | shows units of output.

No. 2 shows fixed cost which remains unchanged from Zero output to the
tput,

mn No. 3 variable cost has been shown, which rises at decreasing rate upto 5
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TATION OF SHORT-RUN COST CURVE
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Diagram (B)
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THE FOLLOWIN ; COST CURVES -

T 'F ", ll Flﬂllal to x-axis which shows that fixed cost of a produ
hange thuhlnss in output level







